
165 5/8

H
SHT 4

SEE

7?.?5
I.D. REF,

SEE NOTE 11

I\ , n,

I4EI.A!D.C!!EIIfu T4L

I €Nt iltAts l$*Etfi
IF . IIil 

'ELBGIM 
tO PFft€SS

SYSIEflS INIER{AII&L lrc. S IiS
FFTIIAIED ffNI'S AilD S@L !'
6ED NLI 

'OR 
TE PURPOSEsls tl vas sF{tEo !r s4t

E CPE! eaPmS€D @ ltEl
ust g suLL s[H lsoRMrtB t€
FGNIS{D IN WE M IN PAR' 

'OoTEnl ffcEPt tr E@&E utx T*
rEPxs tr N 8€trNi SER WICA
It v s sF4tg! q vtTH T{ PaB
wltE{ cds€rr 6 Fm4ss sYsT€Ns
INIEIMTI&AL TNC AND SMLL BE
iersED |ru EMSr

l*
NOTE

( 3e)

39 7/A

69 5/a

SEE DETAIL 9

SHT 3

sEE V049-4-0e0
FI]R MACHINING DITAIL

SEE DETAIL '3'
SHT 2

I

APPRDX, 3 -J
FlR LIVELING AND GRIUT

RfF

60 50
I D. RET,

SfE N!TE u

T-
3J

,B')

17 VDS NO'S RETER TO VILD DATA SPTC VE49_2_084

16. CI]NFLAT LIAK CHECK SLOTS ARE TI] BE PI]SITIINTD
DN VERTICAL CENIIRLINE,
CI]NFLAT FLANGES ARE TD HAVE PROTICTIVE
CI]VIRS AT ALL TIMES DURING & AFIER
MANUFACTURIN6.

STRUCTURAL STTEL FABRICATION TO BT IN
ACCORDANCT VITH SPTC VO49-2-039.

NDTI Sr 
r ELECTR0LESS NICKEL PLA1E

13 EACH SHELL IS TI] BE MARKED VITH THE PSI PART ND.
AS SHOVN VITH THE SHELL ITEM ND

IE PLATES PRII]R T! ROLLING MUST HAVE DIAGONAL CIRNER
T[ CORNER DIMINSIONS VITHIN I,/16' t]F IACH OTHTR

11. I,IACHINING & RILLING PIR SPIC VO49_A_I35.

1O THt CENTIR LINES OF ALL SHILLS AND END FLAN6ES,
ARE TO LIE NN THI CIMMON CTNTER LINE VITHIN +/_ 1/16

9 LIAK TEST & METHID PER PSI SPEC, V049-2-014

B. CERTIFIED MANUFACTURER'S MATERIAL TEST REPBRTS REOUIRID, AS NDTTD

7 BOLT HOLES !F ALL FLANGES TB STRADDLT VERTICAL CINTERLINE }/ ,OI5

6. CLEAN PER SPECI V049-2-015

5 DO NOT USI CARBIN STIEL BRUSHTS OR BRUSHIS CONTAMINATED
VITH CARBON STEEL ON STAINLESS t]R ALUMINUI4 MATERIAL

4 SPOOL FABRICATION TB BE IN ACCURDANCE VITH SPEC VO49_?-097

3. FOR FLANGI DETAILS SEf DVGS, V049.4_OEO, 097, & 055

A FtANGt INCLUDIS AN ANNULAR CHANNEL BETVEEN !.RINGS,
FOR A SINGLE PUI4POUT PI]RT, SEE DVG VO49_4-061,

1. EACH FINISHED SHILL ASSY. STT IS TO HAVI IACH OF THT
PIECTS MARKED VITH THE SAME SET Nt]. AND SHIPPED TBGITHTR,
THI NUMBER IS TE Bt MADE FROI,I THE DRAVING ND
PLUS SEOUENTIAL LETTER VO494A7A_A, B ETC,

SEAM VELD
SEE DETAIL
SHT 2

SEE DETAIL 4
SHT E

IJ

70

L5

,C')

EXPIRES r/e7 APPRIX. VfiGHT, 4134# 01to7?? -

sEt v049-4-055
rOR MACHINING DTTAIL

STE DITAIL 10

SHT 3

"8" j
sHT4 |

sEE V049-4-097
Ft]R MACHINING
DEIAIL

SEE DEIAIL 1I
SHT 3

ffik"\

e"i:l"ig

ISLL NUIL Ib-\ 
I\l\
I

YP VDS 49
3 PLACES

DETAIL
SHT 5

DETAIL 8
SHT 5

L!N6ITUDINAL SIAM
ALTERNATE 180' APART

SEE DETAIL
SHT 5

I
I
I
I
I
I
I
I
I
I
I
I
I

-.llII!l Irlf,r.

-S'- ^r t--,-.tr-

-",'i;o""M*;i,',
-s- :^-. -@- '*az
_ .".:.=,t-Y rr. utArTo 

=

a ^,F.Sfi.u^F,l'di:

z ,'1

FLAN6E, FLAT TACED, 60 I/2" ID X 68 I/4' OD

FLANGE, 6ROOVED, 72 I 4' ID X 80' OD

FLAN6E. REDUCING 6I 06' ID X 73' OD X I' THK

SHELL,304/304L SST, t/4. THK

SHELL, 3O4l304L SST, I/4' THK

BAR. CS A36, | 3/8' X 6.

NUT, HE)C SILICON BRZ,5/16-I8

VASH€R FLAT,5/16, I8-8 SSI

ruBIN6, 4', \ ?' X 3/16' A500 6R B

RINC AN6LE, 2 l/?' X 2 l/4', X t/4'-304 SST

RING ANGLE 4' X 4' X 1/4',-304 SST

HALF NIPPLE, SSI, 304L, CONFLAT 16 I/2' OO

HALF NIPPLL SST, 3O4L CONFLAT 12' OD

BoLT, STL a325,5/8-11 UNC X 3 1/? L6

NUT, STL A325,5/8.1I UNC

ANCHOR I' DIA, HILTI HVA, 8-Il?' EilBEDMENT

RING l5' lD x 20' 0D x l/2' THK-304 SST

RINC' ll'ID x 16'00 x l/?'THK-304 SST

BAR, 304 SST, 4' X 3/8'

BoLT, SA 193 87,7/8-9 UNC X 4' L6

NUT, SA t94 eH,7/8-9 UNC

vAsHER, STL 1 3/4' OD X t5/16 1D X t/4' rHK

HALF NIPPLE, SST, 304L, CONFLAT 4 I/E' OD

BLANK CONFLAT, SST 304L, 4 I/2' OD

BLANK CONFLAT, SST 304L, 12'BD

BLANK CONFLAT, SST 3O4L 16 I/2'OD
6ASKET, CONFLAT, COP OFHC, l I/?'DD

GASKET, CONFLAT, COP OFHC, lA'OD

GASKIT, CONTLAT, CDP OFHC- 16 I/2'OD

S0Ll, Hex HD,5/16-18 x 2 l/! L6, l8-8 SST

BOLT, HEx HD,5/16-tg x 3 L6,18-g SST

BoLT, HEx HD 3/8-16 x 3 LG, l8-8 SST

NUT, HEX, SILICON BRZ, 3/A-16

O-RING. VITRON (PER SPEC VO49-A-045)

o-RlN6, VIIRoN (PER SPEC V049-a-045)

VASHER, FLAT,3/8, I8-8 SST

3/4'0! ELBoV x ? 3/4' OD CF

UNLESS OIHERUIS SPECIFIED

DIENSIONS A{ IN INC{S
TIERAES

a&ARWH to.-s' EEU r2.
rv! PL&t EctxaL ! 03
TFEE PLACE ECIW 1 OT5
IINISD SWIACE RS
lRfA( CRNERS lX, frT'
trmvE arl tutcs

ADAPTIR A-74
60.50'ID x 7?.?5'ID

L]GO VACUUM TQUIPMINT
DESIGN UPDATE/FABRICATIEN (SHELL ONLY)

ISSUED FOR FDR

DO NAT SCALE THIS DRAVING
SIZE

D



6050 ID
REF,

VILD SEAI"I
Sff DITAIL

/ 1 ^^ 
{.03

O 1.UU -.00

Df TAIL '3"
QTY, 2

MAKE FROM VO49I4175-1

D'T AII '4'
aTYr 1

MAKE FROM V049M174-I

Q"l3ilte

EXPTRES t

VELD STAM
Stt DfIAIL

SHILL SEAI'4

VILD DETAIL

DITAIL'13'

ADAPTER A-74
60.50'lD x 7?.?5'ID

LIGTI VACUUM EOUIPMENT

vo49- 4-47 A



l/1
REF

-n F*- r'

IIREFPROTECT THIS SURFACE
DURING FABRICATttlN

_J
-T

tl4
REF

DTTAIL '11'

DfTAIL "10'

10.06 DIA. HOLE IN
lTEl,l 4 FOR ITEH I

SEE DETAIL
SHEET 5

'11'

vDs I

SECTIDN 'f'_'f"
SICTi[N "F'_'F'

STE SI€ET I FIII R€VISIIIE

ffiffi;---7;1'

DETAIL '9O
SEE DETAIL'I5'
SHEET 5

PROTECT THIS SURFACE
DURIN6 FABRICATION

14.06 DIA. HILE IN
ITEH 33 FOR ITE}'I 4

2.56 DIA. }IOLE IN
lTEr.r . FoR tTEr,r 33

SECTION 'D'_'D'

7e v4. x 60 t/?'
LIGO VACUUM EOUIPMENT

v049-4-A7A



-f
lP

l| 
-o

l9
l

,:
I

l< lE l' I> l'. It l< IH Ir
ll l. t\ IH tw | 
'o t\ lw t\

la lE IJ ln IZ l. lC
) L' | 
'o lo

T n;

I T c

ru P
s

c)
'

n\ n1

lc
J lr t-

-!
 l> <l
'+ tT

-

I\ t\
' t

'l X .T ri in

=
-L

-=
--

-
l=

.-
--

N n rr
\ I

P
T

q1 cn cl n

tr
#

a n t D

r- iio
,

-o <
g

>
"i

c)
=

cu !x bf
u

cr
u

=
LJ

I
<

=
rt

u
z. --

t

ru
!



ANGLE ? t/2' X ? l/?', X l/4'
304 SST RSLLED AS SHOVN

l__l
4F-
REF

IIIT6 DIA. THRU
6 HOLES
(HATCH DRILL

Lf
3/'*ll*

FROI.I LEG ASSY.)

DfTAIL "7"
OTY' ?

DfTAIL '12"
OTYI 4

DETAIL "8"
OTY, I

R36 3/8 R36 3/8

DITAIL '14'
OTY. t

SIZE f, ROUNDNESS

I

EXPIRES

60.50'lD x 7
LI6T] VACUUH €

v049-4-A7A


